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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions.

Each question carries 1 mark.

Questions from serial number 9 to 20 are 3 marks questions.

Answers of these questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions.

Answers of these questions should not exceed 100 words each.

Question number 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book..



1. oW i for armaes wrar-fiar smmass @y | % My @l JEd §; a1 38
I 319 SMEUT | -1 wearag (AT S@HT =R ? 1

Suppose your parents want to purchase Gold jewellery along with you;
then which logo will you look for on the jewellery ?

2. ‘i fafwio gfceaet afteg’ 61 Tomean =1 6 T 7 2 1
Why has the ‘National Manufacturing Competitiveness Council’ been
set up ?

3. YW SHdT 9Tl o1 T e g w8 ? 1

What is the guiding philosophy of Bharatiya Janata Party ?

4. oo <6t ufshen 4 qg7 forg YRR Hieem 1 W Ht 8 2 1

How does money act as a medium of exchange ?

5. 379 Ig 8 hg Hohd @ [oh AlhdIEh FIEATE ToiITdeh THMAT 9T AL

Bt £ 2 1
How can you say that democracies are based on political equality ?
6. SIUR FYS & FIT MU 3 2 1

What is meant by trade barrier ?

7.  TSHIfdes Tl § J&ITd o1 forehfad giar & ? 1

Why do political parties involve partisanship ?

8.  SHIHTH! ShIf<iehIil o1 G Ie3T o1 o ?
CRC)]

1T Trfert <1 T 379 B 2 1

What was the main aim of the French revolutionaries ?

OR

What is the meaning of concentration camps ?
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9. 3G ¢ WE i T arfaqfd Famo & sifesr @1 oma foRe JeRR 3w
T Fhd 7 |

Explain with an example how you can use the right to seek redressal.

10. <3 U THSIAN 3T<iddd o head o1 JuiF IS |

Describe the spread of Non-Cooperation Movement in the countryside.

11.  “focsft =R fafie <9 & I 1 AE § Siedr 8 |7 U9 % 9 § de
gt |

“Foreign trade integrates the markets in different countries.” Support the
statement with arguments.

12. 9Rd H JAHET bl foregl a9 fasiwarsti =1 auiq hifso |

Describe any three features of waterways in India.

13.  3nyfes g1 I, rmew o 18 3w & 7, Tt o1 @em w= wfier
feRaT SITAT 8 ? SRV AT HIfT |

Why is modern currency accepted as a medium of exchange without any
use of its own ? Find out the reason.

14.  “FHKd WA % foTT T FIEER 2 |7 39 AT b 94 H 310 Teh GIaT, |

“A challenge is an opportunity for progress.” Support the statement with
your arguments.

15. 9 9 3R 918 91 ohH TR A H HEwqul YHent FTd 2@ 2 T8 HIRT |

How do money and muscle power play an important role in elections ?
Explain.

16. JUY H GEhid o HiedH & Ugarg fopy yepR faenféa gam 2 v i |
AYAT

9fd sAe A foraam o omfdfeh fashm & ua § fohd YRR & e WEqa U ?
Y HIT |

How did nationalism develop through culture in Europe ? Explain.

OR

How did Paul Bernard argue in favour of economic development of
Vietnam ? Explain.
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17. 3UHawEE & faog THes I fhE TR T guTet iR o 2 Ty hifSu | 3

How did ‘Salt March’ become an effective tool of resistance against
colonialism ? Explain.

18. ‘BITHMY Yot & H TGl IR STT o ST TN Hehigd FA1 & ? BRI
&1 fagemor KT | 3x1=3

Why has the ‘Chhotanagpur Plateau Region’ the maximum concentration
of iron and steel industries ? Analyse the reasons.

19. YRA § oAl ohl THET ! GR Ho1l hH HS 8G d g HL Tehdll & ? 39 =R
fefeT | 3

How can solar energy solve the energy problem to some extent in India ?
Give your opinion.

20. Alhdif=eh gl fohE TYhR AR <kl STEhAIST 3T uenai & ufd
IR 3 e 7 2 fagavo Hifsg | 3

How 1is democracy accountable and responsive to the needs and
expectations of the citizens ? Analyse.

21.  “IedeRU SR ICUEHI h S e Wiwddl H IUNEH! H a9 g3 2 1
3TN Higd 39 oA H Y HfT | 5xI=5

“Globalisation and greater competition among producers has been
advantageous to consumers.” Support the statement with examples.

22. 9RA § YW fova g g o1t S TRl Ula Y@ FHEAST i TE hINT | 5x1=5
Explain any five major problems posed by the First World War in India.

23. ITRIWH W H FCT 6 IAN HIM 3G &A1 b &l FA1 Hehfrgd AT ? TIT
ST | 5

Why was the cotton textile industry concentrated in the cotton growing
belt in the early years ? Explain.
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24, WRA i T § ek fohd TR AUl qfHepT (WTd & ? T8 I | 5

How do banks play an important role in the economy of India ? Explain.

25. 9RA H 9" YR AT H YR AW ST ST $99 -1 § ? 389 iy &9
o HETd i 3Mhaeid <hIfWY | 1+4=5

Which is the most abundantly available fossil fuel in India ? Assess the

importance of its different forms.

26. “GFRETR # Aiad 1 faehE S HeNl 3R STGieHl ¥ g3 7 |7 39 % H
Ieretvnt Afga gfe hifse | 5

“The democracy has been evolved through struggles and movements all

over the world.” Support the statement with examples.

27. TUSHIfdH T 1 T AU 3 2 TSHITdeh e o i 3Taddl hl U <hIfT |
2+3=5

What is meant by a political party ? Describe the three components of a
political party.

28. HIHIH I g0 33T U Tehedl Ui hedl o1 99 <hifog, foE@
HIHTE AT H Ueh ATfgeh Uga hl a1 el gl Tehl |

rUaT
“‘Yepit Sl & o T o o wrHfifemt gro e e foredl uie shedi &
U HIY | 5

Describe any five steps taken by the French Revolutionaries to create a

sense of collective identity among the French people.

OR

Describe any five steps taken by the French for the development of the
‘Mekong Delta Region’.
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29. dF @& A, B 3R C, WRa o fgu MU qoHikae W@-AEREE (98 9 W), |
siford fopu T § | 31 @&l @ fEfafga S S ggEar 4 ggEne ik
3ok TE I, AT W i TE {@ren ) ke 3x1=3

A, I8 TIM JEI WA UL HIUE 1 SAeeH g3 o |
B. 9% TJM I fhdMI % TIwE | ST o7 |

C. J% TJM I AN TG bl 9198 o+ § &1 o1 |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following

information and write their correct names on the lines marked in the map :
A. The place where the Indian National Congress Session was held.

B. The place associated with the Peasant’s Satyagraha.

C. The place related to calling off the Non-Cooperation Movement.

Fig:  FHECTRIT J97 A gIRETaT ghgnteEl & o/ Jv7 e 29 & T T/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 29 :

(29.1) 3 TIF 1 a0 fafgu, @ wydE T soE &1 AfuesE foamst
1920 © g3 o1 |

(29.2) 3T TAA 1 A faiRgw, S e Ht @t FE O fhaET & e §
ST o |

(29.3) 38 TIM 1 AW [ARGT, S ToRId § FREMT & TWE & JT o1 | 3x1=3

(29.1) Name the place where the Indian National Congress Session was
held in December 1920.

(29.2) Name the place associated with the movement of Indigo Planters.
(29.3) Name the place related to the Satyagraha of peasants in Gujarat.
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30. (30.1) T WU A R B, WRA & fgu MU Uit W@r-AEteE (I8 11 W),
H aiferd fopy U & | 39 @n 1 fefafed St il ggEar 9@
JEe-T 3 39k Tl 9, A W Gl 78 W@reti | fafey © 2x1=2

A, AE-3TEH @H

B. Yd-qfvem mfcm w1 R @1 weE

(30.2) fTr=fafaa = wra & st Uoifaes Wer-AERT W eeist 3 39T
W%ﬁ\@?: 1
fommaTIeTy — Gt Wenfieh! areh

(30.1) Two features A and B are marked on the given political outline
map of India (on page 11). Identify these features with the help
of the following information and write their correct names on
the lines marked in the map :

A. Iron-ore mines

B. Terminal Station of East-West Corridor

(30.2)  On the same political outline map of India, locate and label the
following :

Vishakhapatnam — Software Technology Park

Fie:  [AEliaga Jv7 Fac giEETGT GhefAEt & 77 Jv7 & 30 F T W

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 30 :

(30.1) SATSHAT WIB-3TT&h @H ford Tog | fooq @ 2
(30.2) Ud-ufvem e & ufvedt fR % wewm %1 am fafe |
(30.3) hdlesh TUsT H Toq Ufig Aigeaaw Trenfiehl uteh <1 9™ fafgw | 9x1=3

(30.1) In which state are Bailadila Iron-ore mines located ?
(30.2) Name the Western Terminal Station of East-West Corridor.

(30.3) Name the well-known Software Technology Park located in
Karnataka State.
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I3 9. 29 & forw For question no. 29

WA kT WET-HA R (TR
Outline Map of India (Political)
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I G.

30 & forw For question no. 30

WA kT WET-HA R (TR
Outline Map of India (Political)
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